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Directions — In each of the following
questions, choose one alternative which
best expresses the meaning of the given
word.
1. COMBAT

(@) Quarrel

(b) Fight

(© Conflict

(d) Feud

FILTHY

@) Healthy
(b)  Ugly
(©) Dirty
(d  Angry

Directions — Choose the word opposite in
meaning to the given word.
3. SPREAD

@) Subdue

(b) Repress

© Suppress

(d) Contract

ALIVE

@) Passive
(b) Dead
©) Asleep
(d) Drowsy

Directions — Read the following passage
and give the answers

Bansilal’s train was late and it
reached Bombay a little after midnight. It
was his first visit to the city, and he didn’t
know where to go. He thought he would
go to a choultry where he would not have
to pay rent, but he did not know how to
find one at that hour. He asked a porter to
get him a cheap room. The porter said that
if Bansilal gave him three rupees, he
would take him to one. But Bansilal
waved him away and walked out of the

ENGLISH

station. He wandered through the streets
and asked a number of people, but could
not find a on a park bench to think what he
should do next. He was very tired and fell
asleep morning stiff in every limb-but the
smiled when he realized that it was the
cheapest. Night’s lodging that he had ever
had.
5. In the passage, the word ‘choultry’

should mean

@) a highway motel

(b) an expensive hotel

() a free resting place

(d) a roadside eating shop

6. The porter refused to help Bansilal
because

@) he refused to pay the porter
any tips.

(b) He spoke a language which
the  porter  could not
understand.

() he had no previous
acquaintance with the porter.

(d) he was rude to the porter.

Bansilal could not get any

accommodation for the night because

@) he wanted to spend the night
in the open.

(b) all the hotels in the city were
closed.

(©) all the hotel rooms were
booked.

(d) the hotels were too expensive
for him to afford.

The night long in the open

@) did not affect him at all

(b) made his limbs stronger

(© gave him aches all over his
body

(d) refreshed Bansilal

From the passage, Bansilal emerges as
@) a fun-loving person

(b) an adventure-seeking person
(© an extravagant spender

(d) a thrifty person
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Directions — spotting the error if any,

10.

My niece has been (a)/ married with
(b)/ the richest man of the town. (c)/
No error (d)

They walked (a)/ besides each other
(b)/ in silence. (c)/ No error (d)

He says that (a)/ he has a car (b)/
beside a scooter. (c)/ No error (d)

Mr. Smith was accused for murder (a)/
but the court found him not guilty (b)/
and acquitted him. (c)/ No error (d)

It proves (a)/ year after year (b)/ that
when it comes into judging new
writing (c)/ we are on slippery ground
(d)/ No error (e)

Directions- Reconstruction of Sentence

15.

(1) Long, long, time ago
(P) who lived with his virtuous wife
(Q) in a country called Chinchinchoo
(R) there ruled a noble king
(S) and seven daughters —
(6) pretty, graceful and well-versed in
fine arts.

(@) PSQR

(b) QRPS

(c) RPSQ

(d) SQRP

(1) According to reports
(P) were still trapped inside
(Q) bogies

(R) the wrecked

(S) some of the passengers
(6) of the express

(@) PRQS

(b) PSQR

(c) RSQP

(d) SPRQ

Directions — Idiom & Phrases

17.

To catch somebody on the hop
@) To give someone a surprise
(b) To catch somebody off guard

TRISHUL DEFENCE ACADEMY

18.

(c) To stand in the way of
someone
(d) To catch somebody suddenly

To spill the beans

@) To reveal secret information
(b) To misbehave

() To keep secrets

(d) To talk irrelevant

Directions — Direct indirect speech

19.

21.

He said to his servant, “Why are you

so lazy today?”

@) He asked his servant why he
was so lazy that day.

(b) He asked his servant why he
had been so lazy that day.

(©) He asked his servant why he
was being so lazy that day.

(d) He asked his servant why was
he so lazy that day.

She said to him, “Why don’t you go

today?”

@) She said to him that why he
don’t go today.

(b) She asked him if he was going
that day.

() She asked him why he did not
go today.

(d) She asked him why he did not
go that day.

Directions — Active & Passive Voice

Do you imitate others?

@) Are others imitated by you?

(b) Are others being imitated by
you?

(© Were others being imitated by
you?

(d) Have others been imitated by
you?

They are building a house next door to

our school.

@) Next door to our school a
house is being built by them.

(b) Next door to our school is
being built a house by them.
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(© A house next door to our
school is being built by them.

(d) A house is being built by them
next door to our school.

Directions — Find out the word with correct
spelling.

23.
@) Ommission
(b) Omision
© Omission
(d) Ommision

@) Forein

(b) Fariegn
(© Foriegn
(d) Foreign

Directions — Choose the most suitable
One word for the given expression.
25.  One who sacrifices his life for a cause
@) Soldier
(b) Revolutionary
©) Martyr
(d) Patriot
G.K.

1. Which of the following is a cash crop in India?
forFotfe1i3a 9 3 dlol e 3 olbot WA &?
(a) JowarSarR
(b) Sugarcane sTooll
(c) Rice aract
(d) Wheat 3§

The first recipient of Rajiv Gandhi Khel Ratna award
is 2roftq stieft XeT IcoT [IIPR P UL Urdddl 3
(a) Kapil Dev ®fte ga

(b) Deepa Malik Siur sifered

(¢) Vishwanathan Anand ferdoirere sireic

(d) PV Sindhu dtdi. Rrot.

Who was the last British Viceroy of India? 811> @I
aiferst feife-or aRRIRRI Dlot 2

(a) Lord Curzon €IS @olol

(b) Lord Irwin cIrS $2fdel

(c) Lord Chelmsford cT1S JFADIS

(d) Lord Mountbatten ¢IIS ISVl

TRISHUL DEFENCE ACADEMY

The capital of Iran is $21cT &bl Istenct &
(a) Tehran da2Ial
(b) Sydney Risoit
(c) Paris Uf¥31
(d) Canberra dotaRT
Which of the keys is used to view the slideshow in
MS Power Point? MS Power Point 3 Fc1Iss 9l G¥dol
& fore fep1 ool o1 SurilsT fopen Sirr 8?
(a) F5
(b) F7
(c) F10
d) FI2
“GIF’ T yut 35U a1 8? 'SHiarsew’ ®r qui Fu a=i
&
(a) Global Internet Format 3f%aas 2ol ursu
(b) Global Interface Format dffaeb $c23Wb1 UIxU

(c) Graphics Interchange Format sIftba1 cadiol
TR

(d) Graphical Interface Format SIIftbabel $c3WA
TR

Which is the tallest building in the world? ferea &t
IARA Il SHARA Dot A 3?

(a) Shanghai Tower 9feTs cfaz

(b) Lotte World Tower &lic¢ acs ciaz

(¢) Burj Khalifa g5 I1eflor

(d) One World Trade Centre Jel acs ¢S Ac2

Who is the final authority to interpret the
Constitution? iffeITol bl IR B0l DI 3iferd
SIfRIDR Dlol 8?

(a) President rscufer

(b) Parliament 3G

(¢) Lok Sabha clIds191

(d) Supreme Court Jdier DIE

The capital of Australia is 3if¥¢ferI ot Irstemoft &
(a) Ottawa 3fleTar

(b) Sydney Rrsoft

(c) Melbourne FcTelof

(d) Canberra doterr

. Who defeated Ibrahim Lodi in the First Battle of

Panipat 15262 urefiud &bt uget es1s 1526 3 saifaa
It ol fobatol 3= er?
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(a) BaburdIeaR

(b) Hemu3d

(c) Balban dcidol

(d) Mohammad Ghori HIZFHG slI31

. Which is the most fertile soil of India? I &t A=A
3ol gt lor 2t 32

(a) Black soil DIcil gt

(b) Red Soil ciret frgt

(c) Alluvial Soil Sleile 3cT

(d) Laterite soil cicarse faigt

. Which river is called as the male river in India? 81>

31 o531 o1t I o2 oIt DaT SIIAT 3?
(a) Ganga3m

(b) Brahmaputra SI&TY

(c) Cauvery P13t

(d) Godavari sliGra3t

. Under whose governor-generalship, the Revolt of

1857 occurred? 1857 oI figIE fepIch SId6i SloreT
@ 3reflor g3m er?

(a) Lord Irwin cif$ s2fder

(b) Lord Lytton ¢if$S feteat

(c) Lord Canning cifs$ dbfoisr

(d) Lord Willington cif$ faféisrest

. Who if the First woman project director in an ISRO
mission of Chandrayaan-2? dgRIlel -2 3 3321 fdroret
3 uacll Afgen ulsiston P15 91D Blot 8?

(a) Muthayya Vanitha 3S=1 qfoTE

(b) Rohini Godbole 2f23vft sirsalcr

(¢) Ritu Karidhalf¥q of¥ercit

(d) Gangadeep Kang/soTIciu dioll

. Which is the longest rail tunnel in India? 8121 bt
1t cidl et 33t et 2t 32

(a) Nathuwadi (T-6) olredrst - ¢1)6)

(b) Karbude (T-35) DS - 1)35)

(c) Pir Panjal 43 UsIret

(d) Sangaldahan JSIcicIol

. Which is the largest island in the world? f&ea @1
AT TS1 U Dlol AT 32

(a) Victoria island faareify=n gha

(b) Buffin island aftbal gila

(c) Greenland sfteicts

TRISHUL DEFENCE ACADEMY

(d) Madagascar JSPITDI

. What was the symbol of renunciation of Gautam

Buddha? 31ic1e1 g & 101 DI Ucticd =i en?
(a) LionRBis

(b) Horse dIST

(c) Bullga

(d) TigercsoR

. Who is competent to prescribe conditions as for

acquiring Indian citizenship? $T¥I=I GIEI¥DAT UTT
@30l b f1u 9t ol forerifea a2ol &b fo1e dlot e
&

(a) Supreme Court JUld DIE

(b) President 3rscufer

(c) Parliament 331G

(d) Election Commission Tl [T

. Who was the first woman to win the Sahitya

Akademi Award? A1 DIGH! TIDR Siidol
arcfl usell #Afdet dlor ofl?

(a) Amrita Pritam 31efeil Uleior

(b) Sarojini Naidu 3RISToll SIRIS

(c) Krishna Sobti GtuIl it

(d) Jayanti Naik SRIc olRID

. Who is known as ‘Father of Supercomputer’ In

India? HI> 3 'JWDRIC P oD’ P HU 4 [y
SITGIT ST 37

(a) Narayana Muthry oIRRIUI J[e3T

(b) Satya Nadela Jc=IT oIS

(c) Sundar Pichai Joc2 firars

(d) Vijay P Batkar forsRI dt acb=

. In which year the partition of Bengal took place?

dolrel I fasirstol fop1 adl gair &

(@) 1905
(b) 1907
(c) 1911
(d) 1913

. Where is the classical dance of Mohaniyattam?

#&ollares DI ArBi ol DEf 8?
(a) Kerala &3
(b) Andhra Pradesh 3161 UGer
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(c) Manipur #0Ig2
(d) Tamil Nadu dAficlolis

. What is the temperate grassland found in Argentina
called? 3rofctolr 91 TG Sirol aret oftdiwor &1t & dAgter
B TR BB 32

(a) Savannah Jdroll

(b) Pampas GeURA

(c) Canterbury Hezast

(d) Downs SI3cA

. What is the minimum age limit to become a member
of the Legislative Assembly? fcreIrol 31T I AG=T
ool P fo1w o=ye11at 1Ry e R 32
(a) 21 yearsad
(b) 25 years au
(c) 30 years ad
(d) 35 years adf
. Which is India’s largest multipurpose river valley
project? #IR¢ Pl AeRI TST I§3G9MRI oISt At
uf¥=iisiol diat 24t 37
(a) Kosi ®Rft
(b) Hirakund 8RIpUS
(c) Bhakra-Nangal HiRIST olislcl
(d) Rihand 380G
Maths
If x4y =4 thenfind maximum value
of x.y=?
I x+y =4 x.y F AgeddA AT
A =2
(@) 4
(b) 6
(c) 8
(d) None

What will be the maximum value of
logx/ x

log x/ x &I TASRAH Al FIT GIEM?
(@1

(b) e

(c) 1/e

(d) none

The radius of the circle increases by the
rate 5 m/s , what is the rate of increase of
the area if radius is 20 m

qedt & Frow F 5 A X X qR
g & afe Bear 20 E A

&% # gig &l & & g7
(@) 200 T m%s

(b) 400 T m%s

(c) 80w m?/s

(d) None

If x= 5t°+6t+5 find the maximum
acceleration

I x = 5t2 +6t +5 3VhdH caIoT
AT Y

(@) 10

(b) 20

(c) 30

(d) none

The number of terms in the expansion of
(a+h)™® + (a—b )™ will be

(a+b)*® + (a—b )™ F ATAR F uer v
T grefr

(@) 202

(b) 101

(c) 50

(d) 51

The number of terms in the expansion of
(x+y+2)" will be

(x+y+z)" & TAEAR & Uer T F&ar
grefr

@ n+1

(b) 2n+1

() % n(n+1)

(d) ¥2 (n+1) (n+2)
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7. f_ll x|x| dx

(@) 2
(b) 1
(C) Ya
(d) None

fn/Z sin°x dx

0 sin3x+cos3
@ am

(b)

© 5

(d) None

X

p, =720 find r

Yp =720r. AT HifaT
(@ 3

(b) 8

(c) 10

(d) None

JIf 2ip 2t p = 12:5  find n
gfg 2™ip,,:21p, = 12:;5,ar n. AT
ALY

(@) 4

(b) 5

(c) 6

(d) 7

. The probability of getting a total of more
than 7, when the pair of dice is thrown,
is

Ul & SIS T el TR el 7H
31 37 Ted A HT ITRAHar §
(a) 7/36

(b) 5/12

(c) 712
(d) None

12. If Ais a 3row square matrix and |A| =3

then adj(adjA) =?

afe Ats 3dfda aot Afted § 3R
|A| =3 dT adj(adjA) =?

@) 3A

(b) 9A

(c) 27A

(d) None

. If Alis a3 row square matrix and then

ladj(adjA)| =?

afe A e 3ufFa oot Aftew & 3R
Y [adj(adjA)| =2

@ 141°

(b) 14]°

© 14]°

(d) 14]°

. The equation of the circle whose centre is

(2, -3) and radius 5 is

3 Jod &1 gHHOT ST e (2, -
)3k Bsar 5%

(@) x*+y*+4x-6y-12=0

(b) X*+y? -4x+6y-12=0

(€) x*+y*-6x+4y-12=0

(d) None

. The radius of the circle passing through

the point (6,2) , two of whose diameters
are x+y=6 and x+2y=4 is

fig @ IR arel ged HT BT (6,2)

ST o I x+y=6 3T x+2y=4§
@ 10

(b) 2v5

(c) 6

(d) 4
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16. The equation of the ellipse , whose

vertices are at ( £5,0) and the foci at (
+4,0) is

38R &1 FHEOT, fSqer Rex

(25,0) X & 3R BT (+4,0) R &
@ S+=1
®) 5+ =1

2 2
(© =1

x? y? _
d) z+=1

. The eccentricity of the ellipse , if the
length of latus rectum is half of minor axis
, s

&rdiged & Scshead, TG oeH ToFeH
$T FaTS g a7 M g,

(@) *

(b) V3

© V312

(d) 12

20. The equation of latusrectum of a parabola

is x+y =8 and the equation of the tangent
at the vertex is x+y =12, then length of
the letus rectum is

U WA & oJediFeH T JHIHIOT
x+y=8%’ IR MY ov TR &
THHIOT x+y =12 ¢, dl oeq Yo &
CECIER

(@) 4?2

(b) 22

(c) 8

(d) 8v2

. How many numbers of four digits can be

formed with digits 1,2,3,4,5 ? if repetition
is not allowed

1,2,3,4,5 37T & TR 3T &I fohdelr
T T8 ST bl &2 Il
gedfed &1 g e §

(a) 120

(b) 230

(c) 240

(d) 250

. If mparallel lines are intersected by n other parallel
lines find the number of parallelogram thus formed

, e m AR X@IHT A n 3T FATHR @3 ganT
RAEH FHIEOT aTelm ash x= gfaeofed frar STar & a 58 YR &1 arer G
I+4cos0) , y=2+3sind § TS T HEIT A AT

(@) an ellipse/ T Ereiged Eg% :S.zngcz
(b) a parabola/ Teh TRaeld (c) m*n®

: (d) ml.n!
(c) anellipse/ T Ererged
(d) a hyperbola/ Ter faqRaer 23)

(@ a-b

. The curve with parametric equations Xx=
1+4cos6 |, y=2+3sind is

lim  (cosax —cosbx)
x—>0 - x?

. The eccentricity of the ellipse x*+4y*+8y-
2x+1=0, is (b) a+b

X*+4y*+8y-2x+1=0, §reiged &
Scchogdl STl

a2+b2
(a) % d) =
(b) 2

b2—a2

© =

© 2
(@) ¥
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24)

25) lim

lim (1—cos2x).sin5x
x—-0 x2.sin3x

(a) 10/3
(b) 3/10
(©) 6/5
(d) 5/6

(12422432442

n—-oo n3

(@ 1/3
(b) —1/3
(c) 1/8
(d) —1/8
Physics

Ohm’s law can also be taken as a statement for
31 b [o1RI DI D Dol b U i $i feT=m
ST ADAl 3
(a) Conservation of energy 3roll DI
JABIUT
Conservation of electric charges ﬁgﬁ
USRI DI AT
Conservation of angular momentum
DIufi=T 31fet DI S2ST0T
Non-conservation of momentum of the
flowing charges UdIi&d Aol b
35T DI RATSIUT

A bullet of mass 20g is fired in the horizontal
direction with a velocity 150 m/s from a pistol
of mass 1 kg. Recoil velocity of the pistol is /
20g GodIol bl b allcll DI 1 kg GorIATol
I fedleT A 150 m/s D o1 A fotpetddt 3 |
fUrdlet o1 ufergifta der 8

(a) 3m/s

(b) 3 km/s

(©) 300 m/s

(d) 1/3 m/s

An electric heater is rated 1500 watt. If electric

power costs Rs. 2 per kilo-watt hour, then the

cost of power 10 hours running of the heater is
U selfdgd slez I 2fesr 1500 are 3l Al
fdciclt B cera & 2 ufel fopellare der |, a1
glez d 10 de 31 UMl b orft fKeiett a1
feret slonr

(a) Rs.30

(b) Rs. 15

(c) Rs. 150

(d) Rs.25

Bats can know about their prey at a distance

even in the night by emitting THINGS AT I 9t

Scotol DD MUl fIIDIR & a2 3 G2 A dt

SIiol AD 3

(€)] Infrared lights 3Id2tH UMDIA

(b) Ultra violet lights G2Ielooil UbIOT

(©) Chemicals from their body 3ol 9313
A ARG

(d) Ultrasonic sounds UTIc] ¢dforRIl

Rays of light get refracted while passing from
air to glass because UDIQI I b0l &1 A
i i 3112 ST AT udfeid 2l Siredt
egdlitea)

(a) Density of glass is higher than that of
air I I Yolrd &dI Pl ol i
3Mfers &

They cannot be reflected from a glass
surface. d Id I A A WRIAfcid
18] 81 Al 3l

Glass absorbs energy from the light
rays DId UDI9l fep2uli A Haif bl
SIAQNRIA D 3

Speed of light in glass is less than the
speed of light in air. GBI J1 UDIOI bI
a1fer 34T 3 b1l b e A D 3

If the length of a simple pendulum is being
increased by 4 — fold, time period of oscillation
will be Af U ARV cileld Dl cidrs DI 4
3[oll 9631 fSAT SIE |, Al GIcTol P dr DI
8ol
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Decreased by 4 — fold 4 3Joll &C
SIRISI

Increased by 4 — fold 4 JJoll d6G SiTosft
Decreased to half of the initial value
UR{3ID A D M dAD STesft
Increased by factor of 2 of its initial
value S@l?\ﬁmfﬁlﬂﬁa(l’fﬂf\ﬁ 2 9ol
a6 Sestt

A pressure cooker works on the principal of

U UIR P2 RIGIA U2 DIt DA 3

(a) Elevation of boiling point of water by
application of pressure GaId b UHIA
GIRI Uloll b gaelelic bl ufedciol
Making the food grains softer by
application of pressure GaId b UHId
GIRI 3lollal DI o124 dolloll

Making the food grains softer by
application of pressure and temperature
GEIId 3112 AIUATo! & SIo[URIIST GRI
3101151 DI o612 Holloll

Keeping the food grains inside steam

for a longer time dIElGoll DI 3IfEID
A D HIU D 3iG2 JXToll

Pressure of a gas increase due to increase of its
temperature because at higher temperature 9131
&P AU 3 gl D PRUI IADI S I Sl &
TRIIfp Ica dAu U=
(a) Gas molecules repel each other more
311 & 31U] UD G2 Dl 3iferd
3iferep uferpita waa 8
Potential energy of the gas molecule is
higherdl31 3101 bl Jfafad 3ot
3Mferp &
Kinetic energies of the gas molecules
are higher o131 b SIU\ISﬁ ol s1rferst
it 3iferp Bl 3
Gas molecules attract each other more
3131 & 31U UD G2 DI 3iferd
3B d BT &

9.

Which one among of the following is an
electrochemical cell that cannot be charged?
ol 3 31 Blot b SATERBRIDCT
A1 3 51 31afdre o1&l foper Sir A 82
(a) Electrolytic cell ScIdcIcsicd et
(b) Storage Cell ZCI¥al AcT

©) Primary cell UTeIID AT

(d) Fuel cell $¢eIol AcT

One feels heavier in a lift when the lift f&Tue &

A feue 3 M3iuol AS;AA BIcl &

(a) Is going down steadily CIOIIAIR oficl
Sl BI 8
Just begins to go up €1 3HU Slloll
91 BIAI 8

(©) Is moving up steadily ¢ISIIAIR 3UR d6
B8

(d) Descends freely Idci>T U oildl 31T
B8

A swinging pendulum has its maximum

acceleration at BdD Slflﬁ:é@ cllcId DI

MDA VI BIAI 3

(a) The bottom of the swing Slf[ & offa

(b) The two extremities of the swing sl(ff
DaABR

(©) Every point on the swing ¥doI U2 83
faig

pC]

No particular portion of the pendulum

Ugc1e1 oI DS [ 11T ofdf

Which one among the following statements
about thermal conductivity is correct? ATdIRI
AlcTddl B 912 I fotgotfe1lR¥ae 3 A dlot A1
Dol ABL 8?
(a) Steel > Wood > Water I¢Tcl> cldbol>
Uloft
Steel > Water > Wood I<lcT> Uloil>
st
Water > Steel > Wood Ulofl> Fcter>
st
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(d) Water > Steel > Wood Uloil> ¢Ter>
st

The process of nuclear fusion in the sun requires

SMAYRADAI Blctt 3

(a) Very high temperature and very high
pressure dodd 3ifére drgdIet 3
a5 3 Ol
Low temperature and high pressure
DH dIudlol 3R 3cd oI
High temperature and low pressure
3T d1gdTol 3112 foteol GId
Very high temperature and no pressure
a1 3MfeID ATgeATel 312 DIS Gl
otgt

The earth’s magnetic field is approximately
gedt T adbIRT 8151 cTo18ieT 8

(a) 1 Tesla CTell

(b) 2 Gauss oI

(c) 10° Tesla CAeT

(d) 1 Gauss 1131

The mirror used for head light of a car is — DR
& 8S clIsc d fe1e Wb guur 8 -

(a) Spherical concave SIICIIPIT AAT
(b) Plane AT

(c) Cylindrical dcTolIbIZ

(d) Parabolic concave UIdcIfRId 3ddcT

SONAR is mainly used by / SONAR @bI U=IIST
IR fpAD gRI fopen Siren 32

(a) Doctors SIdc2

(b) Engineers SooilioRIZ

(©) Astronauts 3lof38l ABA

(d) Navigators ollfddd

A body weight 5 kg on equator. At the poles it is
likely to weight 8IF€] 3 UR fUS DI AR 5
fopeIr. ¢1dl U $ADI AR Blol DI J9Id6T 3
(a) 5 kg fdpen

TRISHUL DEFENCE ACADEMY

Less than 5 kg but not zero 5 fcpaIr A
@4 cifcpol 9[ovl olsl

©) 0 kg feparr

(d) More than 5 kg / 5 fcpaIr 2 siférd

The polarity of an unmarked horse magnet can
be determined by using B 3ifliad €IS D
ga® b gadl oI 3URle B forerifaa
foper it bt 3
(a) a charged glass rod U Il ocIIRA
s
a magnetic compass @gﬂﬁﬂ
DURL
an electroscope B SCIACIFDIU

another unmarked bar magnet B 3112

3iferfad aR Ja®

A refracting telescope consists of B UAID

Ggoll 9ol 8I1 8

(a) One concave mirror and one convex
lens U 3Idedel GUUT 3iI2 B Jtiel
S5}
Two convex lenses of equal focal
length JI3IGI BIdbCl CIdIs &b Sl 3T
oI
Two concave mirrors of different focal
lengths fafdicol WIdbe cidrs &b a1
31deiel gyur
Two convex lenses of unequal focal
lengths 3RId1I0] BIdC AIdIS b Gl
Ielel oA

The nucleus of a singly ionized carbon atom

contains Udbel 3IRIfoIA dIdol T411Y] (<3}

olfdrD 4 Bl &

(a) 6 protons and 6 neutrons 6 UIctol 32
6 ool

(b) 5 protons and 6 neutrons 5 UIctol 37
6 ool
6 protons, 6 neutrons and 6 electrons 6

Uicfel, 6 oRIgiol 3l 6 Sclagiol
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(d) 12 protons, 6 neutrons and 6 electrons
12 Uictol, 6 ool 312 6 ScIdgiol

Two similarly charged bodies are kept 5 cm

apart in air. If the second body is shifted away

from the first by another 5 cm, their force of

repulsion will be Gl JdIol AT ST DI

sardl 5 el i g3t u Fear sire 31 Al

G R usr A 5 At g7 Fermoriafed w2

feR11 Siret 3, Al IolapT uferaHivt act B1om

(a) Doubled Eﬁ'ﬂﬁﬂ

(b) Halved 3I1e1T

(c) Quadrupled fﬁ'ﬂﬁﬂ

(d) Reduced to one-fourth TCID BD
dlerns

Which one of the following transitions of
electron of hydrogen atom emits radiation of the
shortest wavelength? BISSIoIol URHIUT &)
Sciaciol < folFolic1Rad Jcpavll 3 A Dol
AT AR DA (A2oIGeR] DI fAfepur IS
DAL 3?

(a) n=2andn=1

(b) n=3andn=2

(©) n=4andn=3

(d) n=5andn=4

When a solid object is immersed in water, there

is a loss in its weight. This loss is SId b B13A

T DI Uloll 3 SR Sl 8 , Al 3AD dstol

3 ot 311t 31 218 ofaprol &

(a) Equal to the weight of the water
displaced fderftrd ureft & acier &
RIS

Less than the weight of the water
displaced farzenfud urefl &b asior A
DA

Greater than the weight of the water
displaced farzenftie ureft & asiet A
3iférd

(d) Not related the weight of the water
displaced fazenfud urefl &b asiel A

For a steel boat floating on a lake, the weight of
the water displaced by the boat is B sficT U2
A=t 1 &l otra & fore , olld gIR_—I
ferzenfue urell i 9112 &
(a) Less than the weight of the boat ofld
P dolol A DA
More than the weight of the boat olld
P qolol A 3Mferd
Equal to the weight of the part of the
boat which is below the water level of
lake
ol b 3A [33A D dslol b WRIE2
Sl sfieT B ST IR Aol 8
Equal to the weight of the boat
oIId b TSTol D SR

Which one among the following is not produced

by sound waves in air? folFeIfc1Rad 3 A Dlot
arg 3 &qfet A1l gRI 3cUool ofdl Bl &

(a) Polarization %Fﬂ@UI

(b) Diffraction fdacder

(©) Reflection Ufeifead

(d) Refraction 3MUddiol
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ENGLISH

5C 6A
15B 16D
25C

G.K.

5A 6C
15A 16C
25B

MATHS

sD 6D
16A

SICS

6D
16D
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